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A £ 0 & AHE 8 Al A

S FIOpY EERSED)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
Mt St 17,436,108 6,268,5% 11,167,514
= 74,698
ay 1,519,000
J| 106,000
CH 5,900,000
& 4,066,922
= 5,769,488
SAAER DB EA(2EY XS /RIAL A 3,000 5,000 A2,000
pSpLyli=ly 3,000 5,000 A2,000
HEONY =& 3,000 5,000 A2,000
202 O4H] 3,000 3,000 0
01 2LH0Y| 3,000 3,000 0
OFHMYLAS =7 Ol
100,000 *x3H x 103 3,000
ALY =R(ZEL XS/ XSELAI 1,560,000 500,000 1,060,000
iy 1,056,000
= 504,000
HEtAS 1,560,000 500,000 1,060,000
fay 1,056,000
= 504,000
SEZSAXNEHSIANE A2 FAES 50,000 100,000 50,000
401 AIZHIL 200 50,000 100,000 50,000
01 Al&H| 50,000 100,000 A50,000
O=ZZAXEHSAISE AlIES S22
50,000,000 *14] 50,000
I ZMENHE LA 1,510,000 400,000 1,110,000
= 1,056,000
= 454,000
307 QI2+0| M 184,700 0 184,700
Fay 129,300
o 55,400
05 QI2IREZ 184,700 0 184,700
OZEH JZMENHE ZHAY CI2IRE2
184,700,000& * 14 184,700
iy 129,300
= 55,400
401 AIEHILE20HYI 1,325,300 400,000 925,300
= 926,700
= 398,600
01 Al&H| 1,307,300 398,000 909,300
OLEH JI=MENE ZHA Al&ZH]
1,307,300, 000 14 1,307,300
Fas 914,100
= 393,200
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SN MRS
HH: MEAY FA(SIELXGNL/XLALTAI)
= MEAY =ESED)
S - BB - SIS - HRMY - BES Ol &t e HIDS2
02 Zeldl 15,000 0 15,000
OZEd JIZUENE gAY 2l
15,000,000 x 14| 15,000
[ 10,500
= 4,500
03 A& RTHEI 3,000 2,000 1,000
O JIZMENE &AM AIER0HI
3,000,000 14 3,000
s 2,100
= 900
S3EHs T ¥ 2(2sta g /2) 11,292,000 1,432,000 9,860,000
CH 5,900,000
S 3,400,000
= 1,992,000
g8 Aty Edat 11,292,000 1,432,000 9,860,000
CH 5,900,000
= 3,400,000
= 1,992,000
LADMSE & 492,000 602,000 A 110,000
201 fEr2 3| 189,000 183,000 6.000
01 AFS-2t2lHl 189,000 183,000 6,000
ogL=n3e 245 2=
3,000,000& 102 30,000
OLL=NIE HEHA =28
12,000,000 * 12902 144,000
OL=NIE AE ME=
1,500,000 #1000 2 15,000
202 04l 3,000 3,000
01 LI 3,000 3,000
OLA=MHSE K& g2 =&
150,000& x2Z*102] 3,000
301 2eHEN= 100,000 216,000 A116,000
4 JIEt2 =S 100,000 216,000 A 116,000
OZIINESA O =28 Eels
100,000,000 *14 100,000
401 Al HIR ST 200,000 200,000
01 Al&ZH| 200,000 200,000
OYLA=MHIE F=Hlts SIMEA
50,000,000& *4H0tS 200,000
LADMSE S=2EOIE = & lZet SFxd 10,800,000 0 10,800,000
CH 5,900,000
= 3,400,000
= 1,500,000
401 AIEEIL S THYI 4,900,000 0 4,900,000
CH 238,000
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A dNS
M NEEA NH(wSYLEF/UENS - 2]SIIEH
S DNEAILdE 2Y (e &)
= o SIE]
2A - Z3H . H2(3) - HISAIE - HAS 0] Ao %E% HusS2
QuEdsSa 2L 29|
20,000,000 & * 14! 20,000
401 AIZHIZL L0 291,250 275,000 16,250
01 Al&ZH| 291,250 275,000 16,250
OWNSHMIEXE H|(AMA, nHl)
500,000 *2001 & 10,000
QuENSE Al 20,000,000 3 501 A 100,000
OuSASHOIl
10,000,000 *3CH 30,000
oTAHe Z&s & §F&s 4X |RA&2
1,000,000« 1074 A~ 10,000
OHASZE EXE X Y SXE=(XIF)
1,000,000 * 10K A 10,000
OHASZE RX2+
1,000,000 *200H 2~ 20,000
OHASZE WAl 15,000,000 *5IH A 75,000
QOHASLE &M 1,000,000 *207H 2~ 20,000
OHASILHEAIAE AX|
3,250,000 %500 A 16,250
nsdEE 22| 106,244 228,475 A122,231
101 QI244] 43,720 70,405 N26,685
M IIZtH2EXNSES 43,720 70,405 N26,685
OQMX 7 HEE wsac| 22
98,3702 *2621% 15! 38,365
OIUHFIE 2| 218
86,3703 %201%31 5,3%
201 LEt2IH| 25,400 24,400 1,000
01 AlR22t2ldl 12,600 12,600 0
OQunEAAS A
100,000 *4 H *43| 1,600
OYASFEHEHDIE 22|
10,000,000 & * 14 10,000
OYAZEOUEDIY 2X LU=
1,000,000&* 14! 1,000
02 S=32gY| 12,800 11,800 1,000
OSEAMNZTZ2OHM S EL
400,000 * 123 4,800
OUENS SEHEMUIA RXES
2,000,0002!*43| 8,000
202 O4H| 2,800 2,800
01 2LH0oBI 2,800 2,800
OSEMBIZE HRFX Y
70,0002 *2Y 203 2,800
307 2I2t01 ™ 18,324 11,370 6,954
02 QIZFEAAIEE X 18,324 11,370 6,954
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2N MFNS
M NESH NH(WSLSF/UESNE - SFSIIEHY)
C2: DNEAIEE 29 (He|: A 2)
S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
PRREEERERE
18,324,000 & 14| 18,324
308 XXISHHSOIA 16,000 15,000 1,000
07 AFXICHHIZ2IEE 2 16,000 15,000 1,000
OUIANZENDECZEHZ LRI X2
16,000,000& 14! 16,000
HAEBAIAE(BIS) 224 12,672 19,757 N7,085
308 XX SHHSOIA 12,672 19,757 N7,085
11 S| 2SHUSHE A SR E AL 12,672 19,757 N7,085
OHAEBAIAEH(BIS) SXE24
12,672,000& x 14! 12,672
DNHE2EL NSoHA XA 9,000 13,300 24,300
= 1,800
= 1,260
= 5,940
201 et AH| 3,000 3,000
01 AF22:2|H| 3,000 3,000
OUWEoHN N 22 ¢
3,000& 1,000 3,000
301 EEXZ 6,000 10,300 4,300
= 1,800
= 1,260
= 2,940
14 JIEtE A2 6,000 5,600 400
ONE2HA 2™ HG KRB X W SH|
XA 100,000 *60H 6,000
= 1,800
& 1,260
= 2,940
CEeAYLH |AAFTHNAHA 2= 21,330 0 21,330
= 12,798
= 8,532
401 AlIEHIL20HH] 21,330 0 21,330
= 12,798
= 8,632
01 Al&EU| 21,330 0 21,330
O X4 JZFEAAH 2=
237,000 *90JH A~ 21,330
= 12,798
= 8,532
S8ussH X3 3%4,400 301,806 R,54
= 48,400
J| 106,000
& 7,200
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A ME NS
M NEEE HH(RSLESF/UELE - SR SIIEH
Chel: XIS MEOHH SHATA ALY (crel: 2 2)
M- B BRI(3) - AR - BaS Ol ko4 e HimE=]
= 100,000
= 100,000
01 A€l 200,000 0 200,000
QOIRI0l 257 N AL
100,000,000 14! 100,000
= 50,000
= 50,000
0L ETY LA
100,000,000 14 100,000
= 50,000
i 50,000
Hz1s 4 IA(USYSR/UENE - SF7SIIEY 3,216,625 2,824,399 392,226
= 11,700
= 463,000
= 558,462
i 2,183,463
ZEA XA 3,216,125 2,824,309 391,726
= 11,700
Eas 463,000
& 558,462
= 2,182,963
HASA MEXIH 19,500 22,700 A3,200
207 AN 19,500 19,500 0
01 H2E| 19,500 19,500 0
OS0EHA WEKES 918 AT 8
= 19,500,000 * 14! 19,500
BHAZSAIE HWIARA 927,000 1,130,200 A203,200
= 133,810
= 793,190
307 glzto| ™ 927,000 1,130,200 N203,200
= 133,810
= 793,190
09 2+YHEES 927,000 1,130,200 A203,200
OsHEHA HiI=d THEXA
900,000,000 14! 900,000
& 125,710
= 774,290
OsHEHA2SSAIAL 220 A IHE XA
150,000& x 15« 123 27,000
= 8,100
= 18,900
HARSAIY =24 153,000 165,000 212,000
307 2I2t0I A 153,000 165,000 212,000
09 2+YHEES 153,000 165,000 212,000
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SN HSDSI
3 IENS 84 NF(DSLSI/UENS - 22SIIE)

E?l: 2EAY X

(etel: &)

S - B OR(B) - HSAY - BAS

rS[El=
PET

—

HwS2!

OsHEHA NEIIE A

SAEIE]

Za X

3,000,000 14!

120,000,000 + 141

33,000

120,000

Moo

150,000
45,000
30,000
75,000

150,000

307 giz2to| &

=Y

H

150,000
45,000
30,000
75,000

150,000

150,000,000 & * 14!

BV

HH

150,000

150,000
45,000
30,000
75,000

150,000

O

750,000
375,000
112,500
262,500

600,000

150,000

307 glzHo| &

HoH

750,000
375,000
112,500
262,500

600,000

150,000

150,000,000 *5CH

=Y

HH

750,000
750,000
375,000
112,500
262,500

600,000

150,000

0

02

=Y

o H

285,007
43,000
72,602

169,405

246,600

38,407

MO A

285,007
43,000
72,602

169,405

246,600

38,407

285,007,000& *14]

HOH

285,007
285,007
43,000
72,602
169,405

246,600

38,407
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2A:

et s

M (EDE S8 NR(DSLER/HEDS - SRSIIE)

o2l 2EAME X (He|: A 2)
2N - EH - O(3) - HSAY - BAS 01l b e HImS2t
SBHAI2SAIE THEXIR 461,786 78,649 383,137

= 200,000
= 261,786
201 et AY| 49,426 49,426
01 Ar22teldl 48,850 48,850
OEAl 0|8 224 MEEHE =222 7
XE==(2HY) 110,000 *357H4 3,850
OHAl 018 LUZ NEEHME EE2ZD(Z
2Hl) 50,000 «75CH* 12& 45,000
02 222Z| 576 576 0
OHAl IIEZND| S623
8,000 x6CH* 123 576
307 2IZ2t0| A 411,083 27,9438 383, 140
& 200,000
= 211,083
09 2+YHEES 411,083 27,948 383, 140
OE™MEEZ RUSH 0182
13,2003 +70CH* 122 11,088
OEAl SXIg& He XI& At
400,000,000 & 14 400,000
& 200,000
o 200,000
308 AHXIHMSO0I A 1,272 1,275 A3
1 SN 2SUHHEHE A LIS AL 1,272 1,275 A3
OHAI2HAL H2AAE 2YH|
1,272,000& 13l 1,272
EHAl 2XtEa=2 K& 78,000 52,000 26,000
= 11,700
i 66,300
301 YetENZ 78,000 52,000 26,000
= 11,700
= 66,300
14 J|Et2 &3 78,000 52,000 26,000
QEAAl X2 &AL 13,000,000 & «3CH 39,000
= 11,700
= 27,300
O Al 2XH2 AR (KHAN)
13,000,000 *3CH 39,000
EHAl MG XA (SHEBERAL) 31,832 19,250 12,582
& 9,550
= 22,282
307 2I12t0|1 N 31,832 19,250 12,582
T 9,550
i 22,282
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SN HSDSI

FM: HEns S48 I (USLER/USRS -

E?l: 2EAY X

28SIIEH

S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
W S+gHEXZ 31,832 19,250 12,582
OEHAIR2 IIEEEE K& AIY
168,000 *79CH 13,272
T 3,982
= 9,290
OEHAl IXIHIE XIE AT
1,500,000&! *5CH 7,500
= 2,250
= 5,250
O=Al SMIIEEX AX AtS
140,000& *79CH 11,060
= 3,318
= 7,742
FEAN 2£H RIIIEERS 360,000 360,000
307 BI2+0| & 360,000 360,000
QO 2+PHEXZ 360,000 360,000
OFHN S4UH SI2ES
360,000,000& * 14 360,000
=254 54 500 0 500
NEEFLENA 500 0 500
301 YEtBNZ2 500 0 500
14 J|EIE A2 500 0 500
OIS NSX SHEHR A NZAZ
100,000 *53] 500
HMSAAH|(MEF RS W) (JIEHDIIE 111,840 112,727 A\887
ol 2| 70,658 69,821 837
=l I eSEamE=n/3] 70,658 69,821 837
101 @124t 70,658 69,821 837
01 E4 68,341 67,648 693
CESE=ERS= 10,9522+ 1321 +480A1 2! 68,341
B B2 (I 2ENES 2,317 2,173 144
CESIEE RS
12,8682 x150%+10A| 2t 1H = 128 2,317
J|2&H| 41,182 42 906 N1,724
Jl2dd(det s 41,182 42,906 N1,724
201 et AH| 25,882 28,306 2,424
01 AF2222|H| 25,882 28,306 2,424
(OFIEt=1s] 10,690,000& 14! 10,690
O=&| 32,0003 x13H * 12! 4,992
OURZ(ZADI, EHZDI)
850,000&! * 12& 10,200
202 44| 11,700 11,600 100
01 2LHoH] 11,700 11,600 100
O F =& 11,700,000& * 14! 11,700
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1)

=

(=3

_|

s

+

(

rS[El=
PET

ol &y

ol

LB O9I(B) - MSA

= A

600
600

3,000

3,000
53,147
53,147
53,147
53,147
53,147

3,600
3,600
3,600
53,147
53,147
53,147
53,147
53,147
53,147
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300,000& *12&

53,147 ,000& * 14!
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